p = 00000000 (@Oooo)

true O0oooooooooooo (m)
false O0o0ooooooooo ()

G = 0000000000000 000 array0 OO (DOODO)
true 000000 array000QQonQ (T)
false 000000000 array00 Q00O (L)

T = O
T ogoooooo
(T—1)p ooao
(11 X ... X Tp)p oo
(7 array), c ooo

e = 0
c od
op(er,...,en) oooooood
if e; then es else e3 oo
let x = e in ey oooo
T goooooo
letrec , x y=e1 ines gooooo
€1 ez oooooo
(e1,---s€n)p oooO
let (21,...,2,) =e€1 ine; 000000
Array.createp ey €2 goooao
e1.(e2) ogoooooo

61.(62) — €3

O1.00000000000000 Min-CamlODOOOzOO 4,

gbooobooaooad

gboooood

.z, 0000p0000D000DO0O




Globalize(x1 : T1, ..., @y : Tn) = x1: Globalize(ry),...,x, : Globalize(r,,)

Globalize((T — 7), ) Globalize(T) — Globalize(T)),

(7 =
Globalize((T1 X ... X Tn)p) = (Globalize(1) x ... x Globalize(t,)),
Globalize((T array)p ) = (Globalize(T) array),, true
Globalize(T T (0D0O0O0O)
Escapes((T — 1),) = p
Escapes((T1 X ... X Ty),p) = p
Escapes((T array)p G) = p
Escapes(t = true (O0OOO)

020000000000000

I'bey:m ... T'ke,:m,
cOxO0000O opd m,...,m, 000000000 000000D0O00DOOODO0O
I'kte:m Tkopler,...,en): ™
I'Fep:bool T'keg:7 I'keg:T I'teg:mm Thx:mber:m
I'+if e; then ey elsees: T I'HFletx=¢€e; iney : 7

Globalize(T',z : (T —7),,7:T)Fer: 7

Lx:(T—T1),Fe:T

true C Escapes(T) I'ke : (T—1),
INz)=r1 Vz € FV(e1) \ {,7}. p C Escapes(I'(z)) kes:7
I'Fa:7 '-letrec ,2y=e; iney: 7’ I'Fee:7
I'tey:mn ... Thre,:m I'Fep:(mx...xXTy)p
p C Escapes(m1) ... pE Escapes(y,) Doy :m,. .,z T b e T
(e, ..oien)p: (1 X0 X Ty))p I'klet (x1,...,2,)=e1 in ex: 7

I'kFe:int T'key: T
p C Escapes(T) I'key: (7 array), ¢ T'Fes:int

I'F Array.create, e €3 : (1 array), a Pkep(ea): 7

I'ey: (7 array), ¢ T'Fey:int T'keg:7
G C Escapes(T)

Tk ep.(eg) < e3:unit

03 0000000000b000n




goooo:
let rec fz=(let p= (z,z)in let ¢ = (p,z) inq) in f 3

goo:

firmp,xiint,p:mpbpiTy fiTp, xiint, piTy b o:int

firp,xiintbEx:int fi7p, x:intF o int firp,ziint, pimp = (p,2)p, 1 Tq

firpziint - (x,2)p, 0 7p firp,xiint, pimplet g = (p,x)p, inq: 7y

fi7p, z:int-1let p= (z,2)p, in let ¢ = (p,2)p, in q: 7q

Ok let rec p; f o= (let p= (x,%)p, in let ¢ = (p,x)p, in q) in f 3: 7
000 7,0 (int x int), 07,0 (7, x int), O 7; O (int — 7,),, 0000
go:
pp C Escapes(m) pp T Escapes(w) (O p)
pq C Escapes(t,) pq T Escapes(m) (O q)
true C Escapes(ty) (ODo)
Simplify 00O 00O :
Pq & Pp
true C pq

goooooobooobooobo:

pp = true
pq = true
py = false

0O 4. 0000000001




goooo:
let a =ref (1,2) in let rec f () =let b=ref (3,4) ina:=(5,6); b:=(7,8) in f ()

000 ref el Array.create 1 el ey :=e3 0 €1.(0) < ex0eg;ea 0 let _=e; ine, 0000

gdd:
. AT,BF (5,6)p15 : 712 ... AT,BF (7,8)ps, : T34
AT+ (3,4) pz4 : T34 AT,BtF a:=(5,6)p;, :unit AT,BF b:= (7,8),5, : unit
: AT \-refp, (3,4)psy : To_f AT,BF a:=(5,6)p,5;b:=(7,8)p,, : unit
OF (1,2)p15 : T12 AT+ 1let b =ref ), (3,4)ps, in a:=(5,6)p,5;b := (7,8)p,, : unit
OFref,, (1,2)p5 : Ta_f AtFletrec o, f () =1let b=ref;, (3,4)p3y in a:= (5,6)p15;b:= (7,8)ps, in f () : unit

O+ let a=ref),(1,2)p,, in let rec o, f () = let b=ref,,(3,4)ps, in a:= (5,6)p,5;b:= (7,8)pg, in f () : unit

ooao T12 O (1nt X int)p12D T34 O (int X int) O
To O (112 ref),, ¢, 07 O (112 ref),, truel 7 O (734 vef),, ¢, 07 O (T34 ref),, truel
ADa:7,0AT D a:7,,0B0Ob:7,0BTO b: 71,0000

P34

uo:
p12 £ Escapes(m)  p12 C Escapes(m) (O (1, 2))
p3s C Escapes(m)  psa & Escapes(m) (O (3, 4))
p12 C Escapes(m) p12 C Escapes(w) (O (5, 6))
p3a T Escapes(m) psa C Escapes(m) (O (7, 8))
pa C Escapes(T12) (00 a)
o C Escapes(Taq) (0O b)
true C Escapes(T12) (00 a0OODO)
Gy C Escapes(Ts4) (OO bOOOO)
ps C Escapes(Tq_5) (0D fO00oOoo)
true C Escapes(m) (0D fooo0O)
Simplify 00000 :
Pa & p12
Po £ P34
true C p1a
Gy C p3s
P E pa
0000000000000000:
p12 = true
P34 = false
Pa = false
pp = false
pr = false
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